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2023/02/21実施 ©早稲田予備校 
 

早稲田大学 商学部 英語 解答例 

 

 

Ⅰ 

 設問１．(１)－(ｆ) (２)－(ｄ) (３)－(ｅ) (４)－(ｇ) (５)－(ｈ) 

 設問２．(イ)－(ｃ) (ロ)－(ｃ) (ハ)－(ｂ)  

 設問３．… not have been … if … had not … 

 

Ⅱ 

 設問１．１－(ａ) ２－(ｃ) ３－(ｃ) 

 設問２．(１)－(ｃ) (２)－(ｃ) (３)－(ｂ) (４)－(ｄ) (５)－(ｄ) 

 設問３．(ｂ)  設問４．… why this … is taking over retail 

 

Ⅲ 

 設問１．(ⅰ)－(ａ) (ⅱ)－(ｂ) (ⅲ)－(ｃ) 

 設問２．(１)－(ｃ) (２)－(ｃ) (３)－(ｃ) 

 設問３．(あ)－(ｃ) (い)－(ａ) (う)－(ｆ) (え)－(ｅ) 

 設問４．１－(ｃ) ２－(ｄ) ３－(ａ) ４－(ａ) 

 設問５．so that we can continue to ensure the survival of the snack industry 

 

Ⅳ 

 設問１．(ⅰ)－(ａ) (ⅱ)－(ｂ) (ⅲ)－(ｄ) (ⅳ)－(ａ) (ⅴ)－(ｃ) (ⅵ)－(ａ) 

 設問２．(１)－(ｄ) (２)－(ｄ) (３)－(ｃ) (４)－(ａ)  

 設問３．１－(ａ) ２－(ａ) ３－(ａ) ４－(ｃ)  設問４．(ｃ)  

 設問５．hold the key to understanding how exercise could aid weight loss 

 

Ⅴ 

 設問１．(１)－(ａ) (２)－(ｄ) (３)－(ｃ) (４)－(ｄ) 

 設問２．(ⅰ)－(ａ) (ⅱ)－(ｄ) (ⅲ)－(ａ) (ⅳ)－(ｂ) (ⅴ)－(ａ) 

 設問３．１－(ｄ) ２－(ｃ) ３－(ｃ)  

 設問４．Chinese people offering him help in finding ‘orange man’ 

 設問５．teaching them English using video posts 
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